
BA II Plus Calculator
Main Buttons

1 Solving via Calculator

1) P/Y, C/Y = 4
I/Y = 3.75%
N = 7
PV =
FV = $950

2)

Note: PV should be negativeP/Y, C/Y = 2
I/Y = 3.25%
N = 28
PV = -$525
FV =

3) Example: Solve for PV
Step 1
To enter P/Y as 4 and C/Y as 4�� ��2nd

P/Y�� ��I/Y 4
�� ��Enter

�� ��↓ 4
�� ��Enter

Exit P/Y, C/Y Mode �� ��2nd
QUIT�� ��Cpt

Step 2
Clear values from previous question�� ��2nd

CLR :TVM�� ��FV

Step 3
To enter I/Y as 3.75%, N as 7, and FV
as $950

3.75
�� ��I/Y 7

�� ��N 950
�� ��FV

Step 4
Solve for PV �� ��Cpt

�� ��PV

P/Y, C/Y = 12
I/Y =
N = 45
PV = -$975
FV = $1200

4) P/Y, C/Y = 2
I/Y = 2.25%
N =
PV = -$3500
FV = $3850

5) P/Y, C/Y = 1
I/Y = 4%
N =
PV = -$5200
FV = $6500
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BA II Plus Calculator
Main Buttons

Answers/Solutions

1) $-889.93

2) $824.47

3) 5.55%

4) 8.52

5) 5.69
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